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'LQD� <XOLD�� 1LP� ��������������� 3HQHUDSDQ 6DQNVL� +XNXP� $GDW� GDODP�
0HQDQJJXODQJL� �3HUEXDWDQ�=LQD�GL 1DJDUL�
*XQXQJ�0DOLQWDQJ�.DEXSDWHQ�/LPD�3XOXK�
.RWD

*XQXQJ�0DOLQWDQJ�PHPLOLNL� VDQNVL�KXNXP�DGDW WHUKDGDS�SHUEXDWDQ�]LQD��
'DODP� SHQHJDNDQ� VDQNVL� WLGDN� GLODNXNDQ� VHEDJDLPDQD� PHVWLQ\D�� 3HQHOLWLDQ� LQL�
EHUWXMXDQ� XQWXN�� SHUWDPD�� EDJDLPDQD� SHQHUDSDQ� VDQNVL� KXNXP� DGDW� WHUKDGDS�
SHUEXDWDQ� ]LQD� GL� 1DJDUL� *XQXQJ�0DOLQWDQJ�� NHGXD� PHQJLGHQWLILNDVL� NHQGDOD�
NHQGDOD DSD VDMD \DQJ GLKDGDSL GDODP SHODNVDQDDQ� VDQNVL� KXNXP DGDW� WHUKDGDS�
SHUEXDWDQ�]LQD GL 1DJDUL *XQXQJ�0DOLQWDQJ�

3HQHOLWLDQ�LQL�PHUXSDNDQ�SHQHOLWLDQ�NXDOLWDWLI�GHVNULSWLI�\DQJ�PHQJJDPEDUNDQ�
EDJDLPDQD� SHODNVDQDDQ� VDQNVL� KXNXP� DGDW� GL� 1DJDUL� *XQXQJ� 0DOLQWDQJ��
3HQHWDSDQ� LQIRUPDQ� GLODNXNDQ� GHQJDQ FDUD� SXUSRVH� VDPSOLQJ� PHPLOLK� RUDQJ�
RUDQJ�\DQJ�PHPDKDPL�EHWXO�SHUPDVDODKDQ�\DQJ�DNDQ�GLWHOLWL�\DLWX�SDUD�SHPXND�
SHPXND�DGDW��DOLP XODPD��QLQLN�PDPDN��NHSDOD�MRURQJ��SHODNX EHVHUWD�PDV\DUDNDW��
'DWD� GLNXPSXONDQ�PHODOXL� WHNQLN�ZDZDQFDUD� GDQ GRNXPHQWDVL��.HDEVDKDQ�GDWD�
GLWHQWXNDQ�GHQJDQ� WULDQJXODVL��GDWD�\DQJ�GLSHUROHK�GLDQDOLVLV�GHQJDQ� WDKDS�WDKDS�
PHUHGXNVL� GDWD��PHQ\DMLNDQ� GDWD�� GDQ�PHQDULN� NHVLPSXODQ� GDUL� GDWD� \DQJ� WHODK�
GLSHUROHK���

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZDVDQ\D� SHQHUDSDQ� VDQNVL� KXNXP� DGDW�
WHUKDGDS� SHUEXDWDQ� ]LQD PHQ\DODKL� HQWLWDV� KXNXP� \DNQL� XQVXU� NHNXDVDDQ� EDJL�
SHQHJDN� KXNXP� GDQ� NHDGLODQ� EDJL� SHODNX� GDQ� PDV\DUDNDW�� 3HQ\HEDE� WLGDN�
WHJDNQ\D�VDQNVL�KXNXP�DGDW�WHUKDGDS�SHUEXDWDQ�]LQD�GL�1DJDUL�*XQXQJ�0DOLQWDQJ
LQL� GLNDUHQDNDQ� EHEHUDSD� KDO�� SHUWDPD� NHVDGDUDQ� KXNXP� PDV\DUDNDW�� NHGXD��
NHDGDDQ� SHUHNRQRPLDQ� SHODNX� \DQJ�PDVLK� UHQGDK NHWLJD� NHJDJDODQ� VRVLDOLVDVL�
DGDW�
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